Test #2
26. Functioning of a pharmacy is realized on different levels of management. Function of direct control of employees fulfilling concrete tasks relates to the following level of management:   

A
Administrative 
B
Institutional  

C
Managerial  

D
Technical
E
Bureaucratic  

27. Lately the ”Phytopharm” pharmaceutical company has been forced to decrease its production volume and range of goods. Not only does the company head manager demonstrate no managerial abilities, but he also appears to be completely disinterested in the running of the business and executes no control over it. Determine the leadership type of the head manager in this case:

A. Autocratic
B. Democratic

C. Directive

D. Authoritarian

E. Liberal 
28. An accountant conducts necessary calculations for remuneration of labor. Name the type of remuneration that is due for labor carried out according to the work standards and is paid within the amount determined by basic or piece wages for factory workers and salaries for office workers:

A. Basic pay

B. Bonus

C. Increment

D. One-off payment

E. Financial aid
29.  A process dealing with drawing the documents, their processing, circulation and storage is called records management. If all documents circulate through one organization center, - office desk, - then such system of records management is called: 

A. Referent 

B. Decentralized 

C. Centralized 

D. Mixed 

E. Specialized
30. The ”Medpharm” wholesale pharmaceutical firm employs a system that encourages its managers to achieve better results in sales by assigning them points for surpassing their sale goals. The points then become converted into material remuneration. This way the company management carries out the following management function:

A. Control 

B. Motivation 
C. Organization 

D. Delegation

E. Planning
31. A pharmacist approached the chief manager of the pharmacy with a request for pay raise. The chief manager turned down this request. What type of conflict is it?  
A. Intrapersonal conflict 
B  Interpersonal conflict
C. Dysfunctional conflict 
D. Intergroup conflict 
E. Conflict between individual and group 
32. Pharmacy employees receive their salary payments twice a month. What should the cashier do, if a pay day coincides with a holiday?

A. To pay the salaries after the holiday 
B. To pay the salaries one day earlier 
C. To pay the salaries on the holiday

D. To pay the salaries 10 days earlier

E. There are no regulations regarding payment of salaries in this case
33. To decrease business risks, a pharmaceutical company decided to expand its activity and penetrate into new market (to open a fitness center). Name this process:

A. Modernization 
B. Intensification

C. Conglomeration

D. Diversification 
E. Integration
34. A certain management style can be characterized by the following features: the authority is highly centralized; work duties of the employees are very structured; the ability of employees to make decisions is extremely limited; strict compliance with numerous rules and regulations is prioritized. Name this management style:

A. Liberal 

B. Democratic

C. Collective

D. Authoritarian 

E. Direct

35. A pharmaceutical company focuses on selling a diverse range of products covering different customer groups and regions. What kind of organizational structure is typical for such company?   
A
Divisional   

B
Bureaucratic   

C
Functional   

D
Centralized   

E
Decentralized   

36. Personnel records refer to the following type of documents:

A
Reference information
B
Pharmaceutical

C
Scientific

D
Directive

E
Managerial 

37. Public health services attach great importance to the drug quality, for this reason a pharmaceutic enterprise has concentrated its efforts upon the improvement of qualitative characteristics of its products. What concept of marketing management is applied in this company?    

A
Production improvement   

B
Product improvement   

C
Modern marketing   

D
All answers are correct   

E
There is no correct answer  
38. When setting up a joint-stock company the founders discussed the issues of financial liability. What is the liability of the board members in a joint-stock company?   

A
Limited to the amount of deposits
B
Limited to the double amount of deposits

C
Limited to the contributions to the statutory fund and their property

D
Limited to the value of their shares 
E
Unlimited and solidary
39. In a pharmaceutical company both American and Japanese management styles are used. Select a characteristic feature of the Japanese management style:

A
Clearly formalized management structure

B
Individual decision-making process

C
Fast evaluation and career advancement

D
Collective responsibility 

E
Short-term employment
40. Functioning of a pharmacy is realized on different levels of management. Function of direct control of employees fulfilling concrete tasks relates to the following level of management:   

A
Managerial    

B
Institutional  

C
Technical 
D
Administrative  

E
Bureaucratic  
41. Within the matrix of Boston Consulting Group, a certain drug refers to a group of products called "milking cash cows". Specify the stage of the lifecycle of this drug:   

A
Growth   

B
Introduction   

C
Decline   

D
Maturity   

E
Withdrawal  

42. What style of behavior in conflict situations involves partial satisfaction of the interests of both parties by mutual concessions with due consideration of all pros and cons?   

A
Competition   

B
Cooperation   

C
Dominance   

D
Compromise  

E
Evasion   
43. A pharmaceutical company studies the market situation in terms of a relationship between supply and demand, price level, stock of goods, etc. What is the company's actual object of study?   

A
Market structure   
B
Conditions for the market existence   

C
Market scope   

D
Market behaviour   
E
Market infrastructure  

44. The head of a pharmaceutical company "Azalea" applies different types of control. The control which starts with logging in to the system of  organization before commencement of work and is exercised through rules, procedures, etc. refers to:   

A
Current control   

B
Preliminary control   

C
Final control   

D
Decentralized control   

E
Centralized control   
 45. Organizational form of business in which a company does not produce goods or services itself but owns other companies' controlling stake and thereby supervises their activity is called:   

A
Holding   

B
Conglomerate   

C
Syndicate   

D
Cartel   

E
Trust   
46. The head of a wholesale pharmaceutical company applies modern theories in order to effectively motivate sales staff and determine the amount of remuneration. Specify one of the groups of motivation theories:   

A
Primary   

B
Structural   

C
Process  

D
Secondary   

E
System   
47. Among the given principles of market segmentation select a principle that is used in the study of drug market most often:

A Socio-economic

B Demographic

C Psychological

D Behavioral

E Psychographic
48. When setting up a joint-stock company the founders discussed the issues of financial liability. What is the liability of the board members in a joint-stock company?

A Limited to the double amount of deposits
B Limited to the contributions to the statutory fund and their property

C Unlimited and solidary 

D Limited to the amount of deposits

E Limited to the value of their shares

49. Industrial, labor and socio-economic relations between the head of a pharmaceutical company and the employees are regulated by:
A Employment agreement
B Statute 

C Corporate code

D Collective agreement 

E Contract 

50. A pharmaceutical enterprise that has achieved high sales rates and customers recognition will reach the highest profit at the following stage of the product life cycle:

A Decrease

B Maturity 

C Development

D Market penetration

E Growth

